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PRINTABLE VERSION

Quiz 4

Question 1 _@

Find the coordinates of the center for the given circle.

(x4 57+ (y+2)° =31

a)  (-5,2) m
by 2 raolivg = V3|

¢) @ (-5,-2) c=9

d (5.2

e (2,5

f) = None of the above.

ol

Find the length of the radius for the given circle.

Question 2

(x4 37+ (y+2)° =64

a) 64 Ceder= (-3,-2)
b) © radhus = NE4'
¢ 32 ( (=% )
d 2./z2

e) 16

f) = None of the above.

Question 3 @

Find the coordinates of the center for the given circle.
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rint Tes 4) C..o"‘f’l”-tt" ﬂ.g,ﬂlu.ur.s

2) ®(:2,4) (Kwame t W ([ +3yc 16 ) =294 4 1
b)  (4,2) L%ﬂf (%=ﬂf
¢ (2,4

1
< (xe2) + [a+ 4) = 49
d  (-2,4)
e) (4,-2)
f) =~ None of the above.

Question 4 @

Write the equation of the circle with center (-3, -4) and radius of length 5V3.

T L=
a) (x+3]2+(y+4]2=5ﬁ Lx—!}\) +(J- PL) =
z
b) (x—3]2+|{y—4]2=10ﬁ ()<+‘b\ + (af 20 (5‘6\
)9 (13 (=75 =) — -
2 2 (x+3) + (';rl-‘r) = 75
D (x=3)"+(y—4)=5/3 ——

& U (x—3 4+ (y—4=75

f) = None of the above.

Question 5
1©) ,

1 X Yo
Write the equation of the circle whose diameter has endpoints (4, 4) and (4, -4). Aistante™

o todins < L dimeter bogth )

2 (x—d4) +y'=4

B ® e a4t eis gt - ,,\.smcg-m @ -3
O (x+4) 4yt =4 = - 4.3 =4 oot
Pl {’Dl"
2 4 . . 'R L TR
) ) +y =6 v ol = midpoint o} ol.w_-tu- )
©  (x+4)+y =16 (“+“ ) 4 : ) 4 ) 0)

f) = None of the above. ____7 (‘f\ 4) .l.(a o) ’1 ,) (X"ll) +3J
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Question 6 @

Write the following in standard form for a parabola.

1
_"’52_2-"?— 15 —4y=0 \fu‘t(co.’\ < (x-h) = 4(5(3-&_)

—-_

K= 2%+ =4y 15 |
~ —

o m

] (x-—ﬂl = ‘r(a*h—)

e—

2

e) &—~%]=4@—4)

f) = None of the above.

Question 7

Write the following in standard form for a parabola.

Y —dy—6-5z=0 |honzatak < (E)‘ML" aple-b)

D (y-1'=5-2) foiy e =l
D) @ (y—2)2=5(x+2) - o
1)
) O (p—1)=-5(x+2) — 1
.7\(\3-—7_) = 5(x+2)

d) O (y42)°=-5(x42)

&) U (y4+2)°=5(x4+2)

f) = None of the above.

Question 8 @

State the coordinates of the vertex for the given parabola.

FH16x+70-3y=0 < Vertical
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a) (2,-8)

v/
owa ver'l'e_x LL\.&)
b) (-4,2)
R}
¢ (-2,8) xlex vbh < 3y=Fo t6h
. ~
d).(—8,2) \2. '.".a—-—ﬂ

e) (8,-2) =) (x+<ﬂ1’:3La—1) =5 | vestex (-3,2)

f) =~ None of the above.

Question 9 @

State the coordinates of the vertex for the given parabola.

£+5y+30-3x=0 Vorizontal <= (a—k)L=hpLx-k)
a)  (7,3) l Vertex = (b k)
b) (3,-7) 5{3 + = -«
) @(7,-3) %{,ﬂ‘f X -2\
d (3.7) = (3= 2w 2 vestew = (7, ~3)
& (-7.3)

f) = None of the above.
uestion 10
° ®

State the equation of the directrix for the given parabola. — boci 2o JE A N ﬂ"’% ‘]ﬂ’-ﬂ:‘d’ .

;u2=—8x = h?*

-4 = = '—-:.§-.—_—-
‘6}1?")(3 2 2

Yo s Poi nt ("Qﬂ 0)

b — o —

\J

= Oiredi . \ine

=72 \E}
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f) = None of the above.

Question 11

State the equation of the axis of symmetry for the given parabola.

_® 4(y+2) < Vertical ﬁ:ua.\obl&

a) x=6 " ”( A)L'\s Gi,— Sanqme:tfé
\2

b) © x=-7 G mmelr b He  x-value D{.

) @ x=7 s
c
' 1 L= Vectex (:tz , —2)

d) y=-1 1 >
[ ]:_"_" }

e)  y=-2 \] \ 1\ =) |x=1

f) ~ None of the above. X=

Question 12 D

State the coordinates of the focus for the given parabola.

(x—4]2=®|:_}’—3:| > \fe_r"l:\&n-l- P,rn.loola..

a) (44 “h=bhp =7 p= -1 = (o’ D é)dﬂwnw...d
R ohi Pred

_ _1+8) = N
(3.3 (O. l\ (4 3), (o+4) 1+2 ) l_(,_“ )
d) @ 4,2
e) (-4,-4)

f) ~ None of the above.

Question 13 § D E
State the focal width for the given parabola.

(R 2216 (5= 2)
-

a) 4 dosolute.  uplire o -6 = _Foc&iuialﬁ.
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b)

) S R

d) ® 16 Vool widdh =k lp| = 44 -i%}
e Vg

f) = None of the above.
Question 14 %

State the endpoints of the focal chord for the given parabola.

I2=12Jf \= 4p => p=23

a)  (6,-3), (-6,-3)

=) (2 3\ -2p, p)
b) @ (6,3) , (-6,3) ( Pie) ( Pif

(e

¢) (6,0), (-6,0)

d) (3’ O) g ('39 O)

e) (37 6) s (3’ _6)

f) = None of the above.

Question 15

Is the given ellipse oriented vertically or horizontally?

2 2
(x+1) frt3)
E, G @
) \;i&laf.r
a)  Vertically

b) @ Horizontally
Question 16

State the length of the major axis and the coordinates of the vertices of the major axis for the given
ellipse.

I:x—?]z _I_E[y—ﬁjg s vu'h‘c‘j_,) s\f\t‘FtEOA Bgﬁ)
(4%)
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a)  Length of major axis: 12;
b) = Length of major axis: 14;
¢)  Length of major axis: 13;

d) @ Length of major axis: 14;
e)  Length of major axis: 12;

f) = None of the above.

Question 17 ‘g 5

Print Test

Coordinates of vertices: (3,5), (15,5)
Coordinates of vertices: (3, 5), (15,5)

Coordinates of vertices: (3, -2), (15, 12)

Coordinates of vertices: (9, -2), (9, 12)

Coordinates of vertices: (9, -2), (9, 12)

State the length of the minor axis and the coordinates of the vertices of the minor axis for the given

ellipse.

Worioatak CBE 16] =i

a)

b) ® Length of minor axis: 8; Coordinates of vertices: (0, -4), (0, 4)

¢)  Length of minor axis:
d)
e)  Length of minor axis:

f) =~ None of the above.

™)

Question 18

Length of minor axis: 4; Coordinates of vertices: (-6, 0), (6, 0)

12;

10;

i b=t =2 b=2
“loglh = 24 =3 |

(o, b) ) (o,-—fr)
a-u.;.s

L

Coordinates of vertices: (-6, 0), (6, 0)

Length of minor axis: 6; Coordinates of vertices: (0, -4), (0, 4)

Coordinates of vertices: (-6, -4), (6, 4)

State the coordinates of the foci for the given ellipse.

A~ (-/7,0).(/7,0)
b) (5 0).(-50)
©) @ =izl ks 47)
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O (0 -/7).(0.J7)
&) (0, -5),(0,5)

f) = None of the above.

Question 19

Given:
15—

Hi—

5

10 13

Center (1| -;D
\!

Ml 2right
2 doton

_15

Which of the following is the equation of this ellipse?

n=4=a=|c
2 4
a) A 2) 4 (¥ —2) i b3 -—’;\bt—-:—ﬂ

(9] (18]
\erticall e,\\{PSe ;

b @ Z-2" , p+2?

@ (16)
2 2 7_
: 2 ”‘ )
o e E | poaf.
Ve o (1)
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2 2
o0 x+2) (2

1
(%) (16)

f) = None of the above.

Question 20 E

Write the following Tn standard form for an ellipse.

2 2 L "o
45 —24x—39425y +50y=0 & arawﬂt x tees, g tecms

2 ; L,
(4] (25) 4){1-2!”( + ngz. “'5_05 _ 3(‘]
by o 143 -1 |
(25) * (4) = LT T T //,: T~
¢) I:I—3:|2 4 I:L}f+1:|2 _q l_ﬁz )L {3-])1'
(4) (23) ¢ 2
d) (x—BIIg Nt |:,‘.v’+1]2 e ‘1-(;{-'5)1' + 2,‘5(31.1]1':100

(10) (10)

N ) M = DN

2
(25) (4) (,(_3) ( )‘-
+ 'ai’l - ’
f) ~ None of the above. _7 4
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